SECOND YEAR HIGHER SECONDARY EXAMINATION SAMPLE QUESTION PAPER
Part-lll
ECONOMICS
Time: 2 Hours
Cool-off time: 15 Minutes
Maximum: 80 Scores

General Instructions to Candidates:
e There is a 'Cool-off time' of 15 minutes in addition to the writing time.
« Use the 'Cool-off time' to get familiar with questions and to plan your answers.
* Read questions carefully before answering.
¢ Read the instructions carefully.
Calculations, figures and graphs should be shown in theanswer sheet itself.
* Malayalam version of the questions is also provided
. Give equations wherever necessary.

Electronic devices except non-programmable calculators are not allowed in the Examination Hall.
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Answer any 8 questions from 1 to 10. Each carry 1 score (8x1=8)

1. Which among the following is a flow concept
a) Export b) wealth c) capital d) foreign exchange reserve
2. Identify indirect tax from the following
a) Income Tax b) wealthtax c) professionaltax d) GST
3. Find the Odd one out
a)AVC b)AC c)AFC d)TC
4. Maximum price fixed for a product by the government is called
a) price ceiling b) price floor c) equilibrium price d) none of the above
5. In a centrally plant economy all important decisions regarding production Exchange and
consumption are taken by
a) The government b) the market c)either (a) or(b) d)the central bank
6. When AC is minimum
a) MC>AC b) MC=AC c) MC<AC d)Tc=TR
7. Choose the Macro Economic variables from the following
a) Income of a person b) price of an Apple c) profitofafirm d) National income

8. Make paires

Price floor, below equilibrium price, above equilibrium price, Price ceiling
9. Pick the odd one out

a) Homogeneous product b) price taker c) price Maker d) free entry and exit
10. Car and petrol is an example for

a ) substitute goods b) complimentary goods c) normal goods d) inferior goods
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Answer any 4 questions from 11 to 15. Each carry 2 marks (4x2=8)

11. State paradox of thrift

12. Write any four functions of money

13. When the price of good decreases from rupees 5 to rupees 4. Its demand Increases from
100 to 150. Find price elasticity of demand

14. Distinguish between stock and flow variables

15.a) GDP + --—--—--- = GNP

b) GNP--Depreciation = --------------
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Answer any 4 questions from 16 to 20. Each carry 3 score  (4x3=12)
16. Indicate how each of the following situations would affect the Supply curve of a firm
a) Reduction in unit tax
b) An increase in input price
c) An improvement in technology
17. Identify and explain three distinct function of the government Budget.
18. Define GDP deflator. Calculate GDP Deflator from the following Data
a) In 2015 the GDP at current price is Rupees 8500
b) In 2015 GDP at a constant price is Rupees 70

19. Describe the four major sectors in an economy according to the macroeconomic point of view



20. Production Food Cloth
possibilities
A 0 50
B 10 45
C 20 35
D 30 20
E 40 0

By using the production possibility schedule draw a production possibility Frontier and mark the

following points.
a) fuller utilisation of resources b) under utilisation of resources
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Answer any 4 questions from 21 to 25. Each carry 4 score (4x4=16)

21. C=40+0.8Y, | = 20. Find the equilibrium income in the two sector economy. Represent it

diagrammatically.

22. The demand and supply equations of a commodity in a perfectly Competitive market are

given as
QDb =700-P
QS =500+3P

a) Find equilibrium price (1)

b) Find equilibrium quantity (1)

c) Based on the given supply and demand equations draw equilibrium situation on a diagram (2)

23. Explain any four factors affecting the demand for a commodity.

24. Classify the following into revenue expenditure and capital Expenditure.

Interest Payments, salary to government staff, loans to state Government, pensions,

capital projects of plants, Loansto foreign government,

grants to States, subsidies.



25. Complete the table below

Income Consumption MPS MPC
0 15
50 50
100 85
150 120
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Answer any 4 questions from 26 to 30 Each carry 5 score (4x5=20)
26. A firm that maximizes profit under perfect competition will not produce all output where
a) P> MCand b) P< MC. If so what is profit maximizing output condition in the short run ?

Briefly lllustrate with the diagram.

27. The most important role of RBI is credit creation and control of money supply. Explain the

instruments which RBI uses for conducting monetary policy.

28. Distinguish between the Nominal exchange rate and Real Exchange Rate. If you are to decide

whether to buy domestic goods or foreign goods ,which rate would be more relevant ? Explain.

29. Explain price ceiling and price floor with the help of a diagram

30. Following information about a firm is given below

Units of output Total cost
0 45
1 75
2 100
3 120

From the following information, Estimate
a) Total fixed cost ( TFC)
b) Total variable cost ( TVC)
c) Average cost ( AC)
d) Average fixed cost ( AFC)
e) Marginal cost ( MC)
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Answer any 2questions from 31 to 33 . Each carry 5 score (2x8=16)

31. a) ldentify the three methods of measuring National income. (3)
b) Explain any two methods of measuring national income. ( 5)
32. a) Identify the features of indifference curve. ( 3)
b) Explain the optimal Choice of the consumer by using the tools Budget line and
indifference curve. (5)
33. Girish cultivates paddy on a piece of land. He employs labourers successively and total product

is given here

Labourer TP MP AP
1 2

Ul

12
14
15
15

14
12
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a) Complete the table (3)
b) Plot TP AP and MP on the same set of Axis (3)
c) At what level of total product, the producer stops further employment. (2)
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